[23]
W~ IV / PART - |V

SRS / POLITICAL SCIENCE
9T @7 & forg qe GferT ey g

ollow; Cr el :
J =20Wing questions by selecting the most appropriate option.

(D]

RS : RtfRaer oy &
Direction : Answer the

o T W A ey

91. Find out the correct group in relation

TR to their seats in Rajya Sabha :

(1) W W - 35 (1) Uttarpradésh =35

(2) TS/= - 12 (2) Rajasthan — 12

(3) fer - 14 | (3) Bihar — 14
A\~ ) HETRTECE = 19 Maharastra — 19

92. ‘HHNIHE FIAE B y=HH F 4 92. The  basic  thought  behind

R B . 'affirmative action' is :

2 . <
N A (1) It is not sufficient to establis
L), H
et T & i TE el formal equality by law.
e is the supreme power.
2 @ State is
(2) T AR

(3) The laws are sufficient for

() Sl FEE A o
T T &l

formal equality.

(4) Tt is written in the constitution.

() 7E R 3 fafed 2l
" 7 ’ P.T.O.
;qyg|-319207
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9. MW F HAUM B ogER wiw
HIRY STver 2

() TRy S wfy
(2) Jus & ofy

__3) drpEe & gfy
(4) ST T B ofy

94. {1 TRyt @ = & oRY

[ [ vede @ s 5am
A Gl Pl bal ST B

[I. ¥ 3eHe 3 YO W S
Mgaor df 8l 9 s gRE
=g MEHT TEE® A

el YA Yeaiy
(1) 188 7 117 &
2) UHE g 17 &
) 13 I3 T8 §
(4) 19 11 A4t 7o &

Level-3/9207

[24]

93. According to the Constitution of

India the Union Council of Ministers

is responsible to :

(1) The President
@ The Prime Minister

(3) The Lok Sabha

(4) The Ministry

statements

94. Recad the following

carefully :

I. some one who uses the internet a

lot is called 'netizen'.

@ They do not like government
control on internet, but recognise
that some form of regulation is

necessary to safeguard individual

security.
Find the correct statement :
(1) Tis correct and 11 is incorrect
(2) II'is correct and I is incorrect

(3) Both I and II are correct

(4) Both I and II are incorrect
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95. ﬁﬂmﬁﬁm%m

L wa@ & ey 3 gm &
(Prenfiram) 1t afd &t B

. & st ov sl g s

T HT gHa B
g Fee EEy
) 198 9 11754 &

(2) 17 @ 11§68 &1

«(3) 17 N3 gé@ &

[25]

95. Read the

. After independence, the first effort to

[D]

following  sentences
carcfully :
. The President of India has veto

power.

II. The President cannot use this

power on money bills.
Find the correct statement :
(1) 1is correct and I1 is incorrect.
(2) 1is incorrect and II is correct.
(3) Both I and II are correct.

(4) Both I and [I are incorrect.

form local government bodies was :

(1) Community Development
Programme

(2) Apna Gaon Yojana

(3) Mehta Report

(4) Local Boards or Mukami Boards

P.T.O.

Scannea with CamScanner |




http://haryanacurrentaffairs.com/

ID] [26]
ad uiai 35 F AW At 3 Rawr 97. "Since wars begin in the minds of
B B, R e @ Tu it men, it is in the minds of men that
3 RAr & & @ 9 3k the defences of peace must be
constructed.”
T& ST Heta B  This sentence is related to :
@m % wfe & (1) The Constitution of UNICEF
~12) WY TEH $ AR J (2) The United Nations Charter
(3) UgEE B TR | (3) The Charter ofLe'ague of Nations
(4) 99 $ dfgs (4) The Constitution of Japan
98. 9RE & dAUE 3 BhE orgRe A o 98. In which article of "The Constitution
s d9dt oy gfsm = afa R of India" the special process of
e ? money bill is explained ?
A1) FFBRT - 109 (1) Article - 109
) agﬁ - 105" (2) Article - 105
' (3) Article —215
(4) Article - 249 »
99. Aecardmg tn thc hasic wmqn of
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100. “~mg ¥ O R arafed & fo 100. "Justice implies something which it

A A R §EOSMN, | & R is not right to do and wrong not to
T ¢ g 9 WX SR e Ao do : but which some individual
ARFR Hig fR BRAY e7Q @ o person can claim from us as his
eI moral right."
I8 ISRV fehaen B 7 Whose quotation is this ?

1) @ (1) Plato
OREIEIET] (2) Polemarchus

mo Tdo i (3) J. S. Mill

@ TSR & ded | Eﬁq ¥ ‘Th ﬁ'@ﬁr— 101. The notion of 'one culture-one state’,

e o S A ST febar I in reference to nationalism in Europe

gained acceptability at the time of :

(1) el & §9 (1) Magnacarta
() e Fi @ e A 2) In the beginning of industrial

revolution

l/(3’) yo faed g@ % a5 (3) After first world war

(4)@%%%@3

(4) In philosophical deliberations

Level-3/9207 P.T.O.
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102. 9 % @ v 3 o § s

HEYE 787 &

(1) FFT = q9% g

(2) TR & oy

(3) B3-Bq & gHifty
) TG T W A

103. UHFRUSAT # waeewm & e &

Wﬁfﬁlﬁ%

(1) =E g Fie
(2) =M T FHHA
L <3) TR g FHE
(4)%&%#{1

104. ‘95 axaE’ IO 2

1) T & R

2) Hﬁaﬁﬁqfur%f%fq

3) Wﬁﬂﬁﬁ?@ﬁ%m
/(4)mmm%1%q |

Level-3/9207

[28]

102. From the following which provision

103.

104.

is not related to right to equality ?

(1) Equality before law

(2) Abolition of titles

(3) Abolition of untouchability
(4) Ban on forced labour

The explanation of concept of

secularism has inter-relations

between :

(1) Justice and duties

(2) Justice and cquality

(3) Liberty and equality

(4) Justice and morality

'Differential Treatment' is a method
for :

(1) Liberty

(2) Framing of Constitution

(3) Stability of Government

(4) Equality
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105. =it & Teiifos e 3 e
%Wﬁﬂﬂfﬁ?ﬁw&@ﬂq_m
g7

AD-T T S fow e grefim
(2) nstfverar & dxem
(3) % R & T

(4) @ A @ T R A g

106. Helo T N woar @ e e
WP E?

(1) 9l & &9
LIA2) WS & & A

(3) T & &9 H

(4) 9T B qEEA & &9 A

107. frg gMQ ¥ S=Eaq @AY @4 AR
3 gRyM @ e @ dRuE &
97 & wY 7 S o ?

(1) 6t 39

) A= AR B §
(3) Moy 39 J
Xmmﬂwm%ﬁ

Level-3/9207

[29]

[D]

105. Which one of the following points is

the most important in favour of study
of political science ?
(1) Its relevance for all the groups

(2) Philosophical inspiration

(3) Freeship from work
responsibility
(4) To prove oneself right
106. Mahatma Gandhi has explained

'freedom’ in the form of :

(1) Equality

(2) Swaraj

(3) Logic

(4) Supporting the government

107. In which case, the Preamble of the

Constitution of India was considered
as a "part of constitution” by the
Supreme Court ?

(1) Berubari case

(2) Kesavananda Bharati case
(3) Golaknath case

(4) Shankari Prasad case

P.7T.0.
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108. TIERVEE FH §E A ST E

(1) gF<aR & g9fs =T & &9
i’f

- (2) @FAT SR
A3) T s+ ufafrr 3 =g &

@198 s & a3
Rgem figte & &9 #

109. 9RT & GRYM # gEE & 95w
‘FHAT BT GE HYE Yedlvd
1) eIt oY sEER i wHa

(2) oTRfe SiX amHIfoTs FHaT
(3) Xt Sl wiyeT @ FE
POR IR ISRk

110. WRG 3 GRYM § ‘oraRre g &
Ry forar @ 8 ¢

(1) STERATS % §UE &
£2) 9gF TG FARH & Hiewd |

()T F FAEE F
" (4) PR B R R

Level-3/9207

[30]

108. The roots of environmentallsm can

be traced back to the :

(1) Movement supporting feudalism
(2) Freedom movements

(3) A Scientific reaction

(4) 19th century revolt against
industrialisation
109. Identify the correct group of

'equality’ used in the Preamble of the

Constitution of India :

(1) Equality of
opportunity

expression and

(2) Economic and social equality

(3) Political equality and equality of

status

(4) Equality of

opportunity

status and

110. "Doctrine of Residuary Powers" in the

Constitution of India is taken from :
- (1) Constitution of the Ireland

(2) Constitution of the United States
of America

(3) Constitution of the Canada

(4) Constitution of the Britain
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111. 89 R 99 &R 9 afkg #) 111. The explanation of powers of Union

e & and State Governments s :

/(’l'a [ T P AR SR (1) the original jurisdiction of the
Supreme Court

(2) Wdi=a =EEE Hw Re  gddl (2) the writ jurisdiction of the
SHEHR Supreme Court

(3) Galed wEeE & HAUKE (3) the appellate jurisdiction of the
SATRR | Supreme Court

(4) gared <y CEIRIEETRS (4) the discretionary powers of

Supreme Court

112, Frifed & @ fpem ‘99 @ g &l 112. Who among the following believed

aredfas ged A g7 that "Freeflom from fear" is the real
freedom ?
) T A g (1) Aung San Suu Kyi
(2) g Hedll (2) Nelson Mandela |
(3) & W (3) JohnLocke
A4) wal (4) Rousseau

Level-3/9207 P.T.O.
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[D] [32]
13. 91 9 B &9 @ oY 113. Read the following sentences
carcfully :

L @ 3 913 ddww =g I. By the 91st amendment of the
AURYE # e PRe R Constitution the size of Council
™&m of Ministers was fixed.

Il 919 962 9t 57 g&0 3 15% 3 II. Now the size of Council of
g Ay @ W T @ Ministers cannot be more than
TFA 15% of the total member of

| Parliament.

e T B/8 ¢ The correct statement is/are :

,/ﬂ) 198 9 11 799 &1 (1) Iis correct and I1 is incorrect,

(2) 179a g 1188 & (2) Lis incorrect and I1 is correct.

_3) 13 131 7@ & (3) Tand I1 both are correct.

(4) 13 1134 70 & (4) Iand II both are incorrect,

114. I=aH IEEY &0 15 3 SR 114. 'Right to Shelter’ is included under
# g Afe ofer ¥ sRd which fundamental right by the
o T ? Supreme Court ?

(1) 91 & SR (1) Right to equality

(2) a3 Rew SfER (2) Right against exploitation

(3) TR @ Tighe O iRs (3) Cultural and educational rights
| 44) SREIE e . (4) Right to freedom  '

ol Sl T e
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[33]
s 115. 'Citizenship'is :
A1) A SR (1) Rights only
(2) 7 T (2) Obligations only
kﬁ)m Tq AR e (3) Group of rights and obligations
(4) 7 S fﬂﬁl’ﬂ (4) Neither rights nor obligation

be our final

<
116. “IeaE BT offww e | 116. "Patriotism cannot

Tet & gham B ORI GIRIGER! spiritual shelter, my refuge 18
el humanity."
a8 FY [haw § 7 Who made this statement ?
— (1) HereT e & (1) Mahatma Gandhi
‘/(}) W SR & (2) Rabindranath Tagore
(3) R P (3) Vivekanand
4) = H (4) Aurobindo
117. @R @R PRy adl # g FA 117. Which is not included in the efforts
3 yarat & i TFe of implementation of 'Directive
Principles' by the Government ?
(1) S TAETHT (1) Nationalization of Banks
(2) =LA qﬁraé:ﬁ e (2) Fixed minimum wages
3) P & fis 09 CIER (3) Mid-day meals schemes in
schools
) Fuieal & & (4) Abolition of titles
Level-3/9207 P.T.O.
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18. I A 3 @ 3 frarw =
P famg #

(1) 91 i geam
 N2) S & st # e

(3) R % fasfor
(&) @ 1 Rrar Pt

119. 3A-97@ Hd Avwel o srfwm Frofa
o & st ¥

Wy afem s
(2) daftw & & O H
_A3) WA B orer #
(4) deda wify @

120. mémﬁm%mm

[34]

120.

118. The primary point in John Rawls'
"Theory of Justice' 1S

(1) to identify knowledge

(2) thinking under the veil of

ignorance
(3) framing of constitution
(4) framing ideas on liberty

The right to take final decision on
matters related to party defection lies
with : '

119.

(1) Election Commission
(2) Leader of the related party
(3) Chairman of the House

(4) Parliamentary Committee
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In reference to which international

121. 59 oSy "o & ged # 121.

AR gl St g W AE few
SR CALRTNC T b b i 0 I D

(1) ™9 €9R & 9aqq
(2) QfeEd 99 & R

event, the President of United States
George Bush used the terminology,

'New World Order' ?
(1) Fall of Berlin Wall
(2) Disintegration of Soviet Union

(3) The permission of military

(3) =% & s HgHE UsEE
N i
A HrarE STk

action against Iraq by United

Nations

(4) Extension of Nuclear Non-

_4) JT] TR Y # e
Proliferation Treaty (NPT)

122. E GYE TEENY : 122. Identify the correct group :
Mo Ao STEH! - FeUse as¥ (1) B. R. Ambedkar — Independent
Tt : Labour Party

() o= = & - FAEE! Trel (2) Acharya Narendra Dev —

Samajwadi Party |

(3) 9™ HHIE g@'\?ﬁ - gk At (3) Shyama Prasad Mukherjee —

Kashmir Morcha

(4) To Fo Mared - WA qre] (4) A. K. Gopalén- Swatantra Party

Level-3/9207 P.T.O.
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123. (7 aRF B &g § qied ¢

I 59 Ygady Qe & HifRsr 3w
H T F T A P
|

II. 59 fom ofeErfes & &=
VAR B Il AU T

T T R
JDIE@THIIW%

(2) & q 17 8
_43) 19 113 @8 ¥

(4) 19 I35 Tad &

124, ‘Fe foEE @he @ @ Hiedd
TY 1 AgE X ® ¥ ¢

(1) s3a
(2) T F=E
A3) [ geaa

_A) wIf

Level-3/9207

[36]

123. Read the

124.

following statements
carefully :

[ The First Five Year Plan sought

to get the country's economy out

of the cycle of poverty.
II. For this the fast rate formula was

adopted for industrialization.

The correct statement is/are :
(1) Iis correct and II is incorrect
(2) II'is correct and I is incorrect
(3) Both I and II are correct

(4) Both I and II are incorrect

At the time of 'Cuban Missile Crisis'

Soviet Union was being led by :
(1) Brezhnev
(2) Yuri Andropov

(3) Nikita Khrushchev

(4) Stalin
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125. AR & ‘ThH FURE FT B T
T qgdHl T §

(1) &% iEE &
)R B

(3) TN ST

(4) T e @

126. WA U9E, WRA B fRy AR B
fafor & faug W TEHT TR 9

(1) Qifad 99 § o/ dadl &
\Wnﬁqaﬁﬁw%mﬁéﬁ
G

_(3) TEhRuET 3
@) 38 R W IH PR fER
TE a1

127. Qe TE & RERERE Ry
q0 @

A1) AT i qEeEE o

_2 Aepdifes GHER A
(3) SRHER & '
(4) FHEE! Wﬁﬂﬁ-'ﬁ

- !

Level-3/9207

[37]

[D]
125. Which of the following is identified
as 'a critical cause' for globalisatidn ?
(1) Military operations
(2) Technology
(3) New institutions

(4) New framework

126. After  independence, in  the
formulation of foreign policy of
India, Ambedkar was in favour of :
(1) Good relations with USSR
(2) Good relations with United
States of America

(3) Non-alignment

(4) He did not express any idea
about this '

127. The ideological belief of socialist
party was :

(1) in Marxist revolutionary
socialism

(2) in democratic socialism
(3) in anarchism
(4) in Maoist socialism

P.T.O.
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128. mﬁaﬁﬁwmﬁ(@aqﬁm)
T T G ST R T

(1) BT &

(2) =W
ORL K

(4) SRS &
129. 9 %ot & &9 @ R

1.

I1.

e o 2R
AT g 117 &

(2) I T8 9 1799 8|
_B) 19 T &2 8

(4) 13 113Nt 90 2

Level-3/9207

[38]

1945 & 9% WY F 3N &
URERE HeqT H TH R
oy

SRS ERT S9 ST ERT AT
P oIl F JTied H TAH
febar T

128. The pro-democracy movement by

129.

seven party alliance took place in :
(1) Pakistan

(2) Myanmar

(3) Nepal

(4) Bangladesh

Read the following statements

carefully :

I. The European countries got an
opportunity of = mutual co-

operation after 1945.

II. By Dulles Plan the United States
of America tried to reconstruct

the economy of Europe.
The C(;rrect statements is/are :
(1) Tis correct and 11 is incorrect.
(2) 1Lis correct and I is incorrect.
(3) Iand II both are correct,

(4) Iand II both are incorrect.
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130. =1 gt 9 & | e ¢

L 1992 & gl wad st A
IR fahar

II. 399 Wover24 3 &9 & Rom 3
B IR TS g

el i /8
NOPRE RG]
(2) I H& g 179 2
(3) 19 3 |l &l
4) 14 11 35 e ¥
‘g A T Bl & 98 Wi
fopg ardl @t &t ?
(1) &as ot
() RS =5
o o do a0 (THo Two)
(4) Bl Ho 3o (W)

130 wWEy WRG @ Ueq oM I A
ST @ g g R dict @ e

i 3He

woe A T 7
LA 489 (2) 472
AB) 512 (4) 508
Level-3/9207

[39]

130.

131.

132.

[D]

Read the following statements
carcfully :
. Earth Summit in Brazil was

organised in 1992.

In this, in Agenda-24 a list of

I1.
development  practices ~ were
recommended.

The correct statement is/are :

(1) Tis correct and I1is incorrect.
(2) IIis correct and I is incorrect.
(3) Both I and II are correct.

(4) Both I and II are incorrect.

'Democracy in India is a sham' —

which party advocated this ?

(1) Swatantra Party

(2) Forward Bloc
@) C.B. L (MEE)
(4) C.P.1.(M.)

Polling was done for how many Lok
Sabha Constituencies in the first

general elections of Independent
India ?

(1) 489 (2) 472

(3) 512 (4) 508

P.T.O.
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133. WG & HRwe & ogda 74(1) B
ST HEvaReg &1 e ¥
(1) ey Frafor s
(2) TSy B werer ol wars A
(3) J9rET WX e &
(4) ol Fdar
134. GO 3 AUIRE GROT H HeT Al
g
(1) o= it g
(2) et @ g
(3) TRHR & G
v JA) R R g
135. 1956 @ 9 gwied dREH
AR X fre g e R @ 7
(1) 12
(2 14
(3) 16
(4) 18
Level-3/8207

133.

134.

135.

According to the Article 74(1) of the
Constitution of [ndia the function of
Council of Ministers is :

(1) policy making

(2) to aid and advise the President
(3) control on Administration

(4) direction to the President

Non-traditional Notion of security is

known as :

(1) Security of territory (territorial

security)
(2) Security of institutions
(3) Security of government

(4) Security of humanity

Under the States Reorganisation Act of |

1956, how many states were created ?
(1) 12

(2) 14

- (3) 16

(4) 18
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139. WHX B F96 H I H T

FeiRd g2 @ w1 &=y @ ey
I &t .

(1) 79 {9 Qe H
(2) PP HAT FAHH B

«(3) BRA s H
(4) ST9IT QST B

140. 99 Il @ &9 9 qfed ¢

[ Tl Safes FEsa qtg 1972
g gl
II. g8 Jad: Maeisr o 5

TE T 5/8
) 198 g 11 T 2
_A2) 17 g TH8 &

(3) 13 I3t & &

(4) 19 11391 Tod B

Level-3/9207

[42]

‘139. "The guarantee given by the
government to buy the produce of
the farmers at a given price" was the
beginning of :

(1) Gram Vikas Yojana

(2) Krishak Kalyan Karyakram

(Programme)
(3) Green Revolution

(4) Antyodaya Yojana

140. Read the following statements

carefully :

I.  Anti-Ballistic Missile treaty was

signed in 1972.

II. It was basically an effort of

disarmament.

5
f
2;

The correct statement is/are ;
(1) Iis correct and II is incorrect.
(2) 1isincorrect and I1 is correct,
(3) Both I and II are correct,

(4) Both I and II are incorrect,
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141. T BRI Ged dHEH A fauN 141. After independence in which state a
W@ﬁ 3 falew § g = § ) non-congress  government  was
SECORRERIRCING formed after the first Lok Sabha and
(1) TS State Assemblies election ?
(2) FGTHR-FEH (1) Rajasthan
(3) H=19 (2) Travancore-Cochin
AL B T ¥ (3) Madras

(4) None of the states

142. FERIFMEN & HeA SMTgs & A M 142. In International Politics a simple

S REly & Mo oFRisE oG & logic responsible for the rising of
TH GEEE d% B Jakerdl HEl . Cold War between Ssuper powers
SiGI %, 39 UeAd : » was : ‘
| qu (srferra) (1) Deterrence
52) g1 SHGE (2) Huge population
(3) g& AT 9 oot (3) War crimes and decision
(4) Tz HY % HedeHdl (4) Ineffectiveness of League of
- Nations

143. “‘IOT ARGHE AT T4 S it | 143. "North Indians and Brahmins are

T o g1’ 39 Ad & gfadras g Aryans different from Dravids." The
propounder of this thesis is :

(1) Fo &R0 TR () B.R Ambedkar

(2) go @ré THo TGS . .. (2) E. M. S. Namboodripad
“B) ze dlo JARET AT : (3) E. V. Ramaswami Nayakar

(4) = TEEE | (4) Cho Ramaswamy

. Level-3/9207 g
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144, 9T | ARy eReg o goe
T R A gReR & R F g

g7

(1) TF 9 4t =&
A2) Th g%

(3) a9 &

%) B FEr i T8 ¥

145. 9RT a7 1949 ¥ fF9 39 3 wd=ar
WH % dT ¥ T e
e e A mar ?

(1) ZTSIARET  2) i
(3) g (4) AT

146. 74 ar @ &9 4 Uied :

I B AF« H dRgA 9 7o 9
# gkl GA &l

Il I@TEy @ gerd | B T
faag 2

92 Fuq 2/E

(1) 19& g 11 7Terd 2

) & g 175a &
_3) 19 I3 & o &
ﬁ 19 11N & &8 &

Level-3/9207

144,

145.

146.

In India, how many times the
President can ask the Council of

Ministers to reconsider their advise ?

(1) not even once
(2) only once

(3) thrice

(4) number is not fixed

An international conference in 1949
was organised by India in support of

freedom struggle of which country ?

(1) Indonesia  (2) Sri Lanka

(3) Egypt (4) Malaysia
Read the following sentences
carefully :

I. In some spheres the powers of
Lok Sabha and Rajya Sabha are
equal.

II. Removing of Vice-President is

one of the sphere.
The correct statement is/are :
(1) Lis correct and II is incorrect
(2) Ilis correct and I is incorrect
(3) Both Iand II are incorrect

(4) Both I and II are correct
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147. ﬁqmiﬁmﬁﬁm

L g Tl 1966 ¥ wwa @
ERIELETRCRl

LT 1959 # 3 @tw @
W B T W © g i

el B B/R
(1) 198 g 117 &

(2) 17%d @ NEERS

\}Jﬂanaﬁfa@ﬁ%

A4 g [a- Tod &

148. ﬁﬂmﬁﬁwﬁﬁtﬁ%ﬁ:

Level-3/9207

[45]

[D]

147. Read the following  sentences
carefully
. Indira Gandhi became the Prime

148.

Minister of India in 1966.

[I. Before this she held the post of

Congress president in 1959.

The correct statement is/are :

(1) Lis correct and I is incorrect

(2) Lis incorrect and I is correct

(3) BothI and II are correct
4) Both I and II ar€ incorrect

Read the following statements

carefully :

[ The Council of Ministers i
collectively responsible 0 the

Lok Sabha.

II. According to the principle the

Council of Ministers 18 the
of the

executive committee
Parliament.
The correct statement is/are :

(1) Lis correct and II is incorrect

(2) Il is correct and I is incorrect

(3) Both I and II are correct

4 Both I and II are incorrect
P T 0:
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